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sin” x+cos” 2x =sin” 3x +cos * 4x
%(l—cos 2x)+%(l+cos 4x)= %(l—cos 6x)+%(l+cos 8x)

2 —cos 2x+cos 4x =2 —cos 6x +cos 8x
(cos 6x +Cos 4x)—(cos 2x +cos 8x): 0
2¢0s 5x-cos x—2cos 5x-cos3x =0

2 cos 5x(cos x —cos 3x)=0
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Buiyucnure:

128-8= 128-2-2-2= 256-2-2= 512-2= 1024
1024

512-2 = T-lOz 512-10=15120
632-25 = %-100:158-1002 15800

75° = (7-8)25 = 5625
V2916 = /29,16 -4/100 = 54-10= 54
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Onpeagenute HaMMeHbLUUWN
NONOXUTESNbHbIN Nepuon PyHKUUU U
yKaXXute obnactb 3Ha4YeHus

y=sin(x+l) y=3003(%+7xj
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3anuvwim B TeTpaau peLueHne npocTemnmnx
TPUrLLOHOMETPUYECKUX YPpaBHEHUN

1 sinx=a x=(~1)"arcsina +m,n e Z
2 cosx=a X =xarccrcc +2nn,n e/
3 tgx=a x =arctga+nn,ne”Z
4 ctgx=a X =arccrcc+mn,ne
sinx =1 sinx = —1 sinx =0
5 T T
X=—+2m,ng” x:—5+27m,neZ XEm,nel
6 cosx =1 cosx £ —1 aosx =0
x=2mm,nex x=n+2mm,ne”l x:%+7m,neZ




Hautu nyTb peweHun

. 2 2 .
1) 2sin” x+cos” x =5sin x-CoS x

2)sin” x4 cos” 2x +sin” 3x = %

3)2 cos(% — %j =—3

4)sin” x—2sinx-3=0
S)ﬁcosx—sinx=0
6)2cos” x+3sin” x+2cosx =0

7) cosx-sIn7x = Cos3x-sin Sx
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C sin®x+cos®x=—
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1)x=i%+7m,nez
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x=?,neZ xX=m,ne’

1)x=—%+7m,neZ
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3 6anna — oueHka «3»
6-7 6annoB — oueHKa «4»
9-10 6annoB — oUeHKa «5»
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